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QUESTION 1: LAW OF THINGS



















Question 1.1

A had a natural possession (possession naturalis) because he is renting B’s house. C was protected by interdics (possession ad interdicta).The most important difference between the two kinds of possessions was that A had no protection and C was protected by the interdictum utrubi. The reason C was protected by the interdictum utrubi was because wine was classified as a movable thing.
Question 1.2
OUESTION 2: LAW OF OBLIGATION
Question 2.1
Question 2.2
The contract was voidable and because of this Petrus could request that it be declare void. He could also institute an action for damages.
Question 2.3
No. B is not entitled to the repayment of the purchase price. In the present case the contract of purchase and sale was perfecta because there was consensus on the essentialia of the contract and no suspensive condition. Because the contract was perfecta, the risk of damages to or destruction of the object of sale passed to the buyer. Since the risk lies with B, he can not reclaim the purchase price.
